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Solution:

[image: image2.wmf]2

2

()

(4(1))4*(1)

x

Fx

xx

+

=

++-+-



[image: image3.wmf]2

2

()

4(1)4*(1)

x

Fx

xxx

+

=

++-+-



[image: image4.wmf](

)

2

2

()

(4)(1)4*(1)

x

Fx

xxx

+

=

++-+-



[image: image5.wmf](

)

2

()

(4)(1)4

x

Fx

xxx

+

=

++-+



[image: image6.wmf](

)

2

()

(4)(1)

x

Fx

xx

+

=

++-



[image: image7.wmf]2

()

(4)(1)

x

Fx

xx

+

=

+-


Domain is the set of all real numbers except 
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Domain is the set of all real numbers except 
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Domain is the set of all real numbers except 
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Domain is the set of all real numbers except 
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Domain is the set 
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We express as an interval notation.

Domain= 
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We find the range of the function.

There are three factors in 
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When  
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, function 
[image: image21.wmf]2

()

(4)(1)

x

Fx

xx

+

=

+-

 can be approximated as 
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.   The graph is 
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When  
[image: image24.wmf]x

 near
[image: image25.wmf]2

-

, function 
[image: image26.wmf]2

()

(4)(1)

x

Fx

xx

+

=

+-

 can be approximated as 
[image: image27.wmf]222

(24)(21)(2)*36

xxx

y

+++

===-

-+---

.   The graph is 
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When  
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The graph  of 
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 is continuous except 
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Thus we can sketch the graph of  
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Thus the variable 
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can be any real number so the range of  
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 is the set of real numbers.

The range =
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.
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